EARAROBEEIERT — 2 N— IBISH —F

20178118298 (k) 15EIK##3H

Il V% —f% C1AKN

‘ [Riz] ¥ ‘ [REBE] — | & (%) 1600M THE

[A~&£] 1 7% :1,600,000  ~ 237 :640,000 @ 3 7 :400,000 §

4 7 240,000 B 5 3& : 160,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
)13 143 —5-5- . — BEEE (KHF)
N BEAYAzZE 3 2 1(4_3)8 6-5-5-5 | 39.3 3 (5_577) red
IV INATA—h— BT T XRG4 TAT7 > PV AN
= = EIHEER :43. —-3-3- . — HRREAL (KFF)
2 14 Y LTMTA4F— 9 56.0ﬁ (17/?78) §383 397 o (4_621) 3=
LY LTAN—F B:IANYT Bl &
. = g 4t 4 | KEEZ 1:44.0 1-1-1-1 |39.9| — 5 503 | Fk&EFIE (KH)
o) TXIFTI1 5.0 1 1/) o | B
LTv TRy b BRIV T =2 ke
8 Y o7 | SEHEK 1:44.2 5-4-4-4 | 40.0 | — 2 469 | R LEF (KH)
N 3 VAYNIZE 4 56.0 (1 1/4) +3) EEEF&
Riw4—I TLL B:INTq>TH— jr e
7 4 4 | BBXS 1:44.5 2-2-2-2 | 40.4| — 1 494 | FESRIGHN (ZViA)
5/8(13 7T~ AY—%al 6.0 (1 1/2) (y |BEAEL
L:xrdnMO— B:N—hr70AAF1 =Rl %S
. [T it 6 | REXH 1:44.5 6-5-6-6 | 40.1| — 4 449 | HETEF (KH)
67|11 FLAI1L Y~ 54.0 () ) | R
LZAXHTLR B:Hyq 48— Elsgae
S LY — 4 5 | FHEE 1:44.5 12-12-13-14| 38.8 | — 14 | 459 | AMREEZ (KH)
TIT2) 2 8.0 757) o |28eF
LTIRAFY LI B:AY— KA =L B2 %Y K
e e ERIAHEH : -14-13- — AfREE ()\HE)
glsl7|ZFU>TTLZ b i 5 e 1(.14/42.)6 14-14-13-12| 38.9 12 122)7 o /N
R:TH AT Ly h— BYIETHIA 1 BARE
N N LHEfEA 145. -11-10- . - A= (k)
9 3| B RTLA/N— o7 £ 1 (425)0 10-11-10-9 | 40.1 13 (4+878) el
R:oA7F B RTIAVRSATLY RIS
- . AHEES 145. -10-8- . — RN (KH)
wolslg| 751 ru—s— o | 28 g | e | e B ki
L:T7TxZXT54 b~ B:FH¥-bO-X LEHS
SN ¢ b 5 | PAIEE 1:45.4 8-8-11-11 | 40.7 | — 10 | 457 |HLHEE (K3H)
] 6| XA NAX—IN= 54.0 (72 ) iy
LT IHFLIY BV F/TYh J—ZH—F>
I A 4 3 | EEX 1:45.5 11-8-7-7 [40.9| — 11 450 | ETEME ()5
121]1| pST=SLE Ee (1/2) 43 |BEEZ
LIIUIATA—N— BT I1 E— H—RFIN=9 282K
. # o3 | EKER 1:45.5 13-13-12-13| 40.2 | — 6 498 | WAL (KH)
130 9| AV FIVRE— 56.0 (7€) (1) |FbEL
L:7L>FFE2T71 BAUTFT—YTI-K TANAS
. R. /7 k0O . -7-9- = TS (A
1408 5| 78—=X KZ7Ib—b 5 | R 77 1(.34/%7 4-7-9-10 | 41.1 7 (4&7) gmg@;ﬁ (/1v#h)
RTANRTy Y2 BiL1I1> HET7— L4
® 1—F—@EBIERL
13—7+— 10,13,14,5,4,(2,11),6,8,3,1,12,9,7
2a=5F= 10,13,14,4,(2,11),5,(1,6),8,3,12,9,7
Jol=5r= 10,13,14,4,2,11,1,8,5,3,6,9, (7,12)
43—+ — 10,13,14,4,2,11,1,8,3,5,6,7,9,12
[ N5
B O 2 580H 714K 2-14 3,360 e E 2-8 1,980 JEE 2-10-14 24,240
B B 2 230H 2-10 970M e B 2-8 3,460 3EE 2-14-10 137,480H
14 840H 10-14 2,220H B & 2-14 11,370M
10 260M B H 2-14 13,220

ABICOVWTRDTEEERROODE. TR LIV,




